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hist(hakusan[,1],main="AmAEE",col="#539952")
hist(hakusan[,3],main="##£4." breaks=seq(-6,12,1.2), col="#edae00")
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unicor(hakusanl)

Lo g o
o
o
©
w | o
o
< —
] -
M ¢
o
o W [ pU - _ o
o
o
9
w
e =
&
T T T T T T T T T t
10 20 30 40 50 10 15 20 25 10 40
Lag Lag Lag
o | o | o
®
o 7 o g
2 4
o |
o ©
=
@ |
< | g =
S 3
® 3
8
o s~ |
5
= E o
o
; 1\
b=
. g A AN
: W LSS VAR
o
o
0 | (=3
d 2 ’
S+
T T T T T T T T T
5 10 15 20 10 15 10 20 40




WHARD 7—#%

000 \jv’ﬂ
MM
HIHA L R [AHALL

Frebip

wv[/%ﬂ"

i

1:2 . I\-’w |
M pAREY P
1.0 NI

k U‘IIIM\'I
¥
%
llll[iﬂ“‘
\ l
TAC AUTACARRELAT 10N
ooy Lo qumcomeention ¥ T
J ] U.E‘& 1
3 Hﬂhﬁ J
|
!
= 4 i =0.0 4+ 1
N LLLLLLNPPIITR RS R LY
- 4 0.5+ |
-0.E 0.5
Y T T [ S S
-1.0 T T S T T T A S S 1] 10 a0
0 0 20 [i] o 20

ERAF  Jb)IREIUER BIEBFEVI (BERFIARHT)



&3

‘-

ZRER

8 3 g g
g 2 ig g
g 2 is 8
[=] @ ua o
2 2 8 :
.m. “.m m m
g i3 & 8
. la o 1=
g 2 2 <
E -] 8 18 WW
2 a im i=
[ g ]
b Wb = T — 1
= s FE a S——— | g i
F = 8 o e 5 m o i!
Dw B= A~ ] = ]
i g |° g 1™
: ” | M
i .k i — 1
e E] 2 2 8 g g e 2 8

EVII (B R5ERT)

>
S
/.

HIBF

JRIY BB

2

e

RRERKRF



cor(hakusan[,c(3,4.7)])

hakusan <- read.csv("hakusan_new.csv") ien 1*(%3?:800 0@%@241 0?‘%?980
. o ” ki . -U. .
pairs(hakusan[,c(3,4,7)],col="blue”) 2 -0.3646641 1.0000000 -0.371911

it 0.1909800 -0.3719110 1.000000
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#Package(TSSS)

crscor(hakusan[,c(3,4,7)])
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f

hakusan <- as.ts(read.csv(""hakusan_new.csv''))

hakusanl <- hakusan|,1]

sunspot <- as.ts(read.csv("'sunspot_new.csv'"))

Period(hakusanl) period(sunspot) period(maxtemp)
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f f
blsfood <- as.ts(read.csv(''blsfood new.csv'"))
whard <- as.ts(read.csv('"'whard_new.csv'"'))

myelf <- as.ts(read.csv('"'myelf new.csv'))

maxtemp <- as.ts(read.csv(''maxtemp.csv'"))



t <- 3:300

r <- as.ts(rnorm(300))

for (iint) x[i] = 0.9*x[i-1] + r[i]
plot(as.ts(x[101:300]))

as tsix[101:300])
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as.ts(x[101:300])
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r <- rnorm(3200)

ACF

spectrum
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## Raw Spectrum
# autocovariance function

lag <- 50

lag <- length(r)

lagl <- lag-1

X <-
as.ts(acf(r,type=""covariance' Jag. max=lao\
¢ <- x$acf

# raw spectrum

p <- rep(1:1ag)

f <- 0:lag =
g <- 1:lagl
for (iinf) { =
fj <-i/(2*1ag)
s <-¢[1] & T
for (k in g) { o
s <- s + 2*c[k+1]*cos(2*pi*k*fj) e
}
pli+1] <-s 4
}
p <- as.ts(p) J -
Ip <- log10(p) I I I I I I I
plot(lp,ylim=c(-4,1)) 0 200 1000 1500 2000 2500 3000
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# simulation by 2 cosine function

t <-1:400
T <- rnorm(400)
for (iin t) { S
yli] <- cos(2*pi*1/10) + cos(2*pi*i/4) + r[i]*0.1
| o | )
y <- as.ts(y) V v V \J V
=
plot(y) & 5 M " \ " h ,\ R J I‘
{‘In.l —
T T | T T
0 100 200 300 400
z<- period(.y,wind0w=0) Time
z1 <- z$period
1z1 <- log10(z1)
plot(lz1,type="h"") . . . — . o e —
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